G)
DRAPER

32.5¢cc

PETROL BRUSH
CUTTER

80880 - GTP34 SPARE PARTS LISTING

|

KEY ol STOCK DESCRIPTION KEY Fol STOCK DESCRIPTION

1 Y-GTP33-01 85217 |Plate. 44 Y-GTP33-44 85259 | Cylinder Gasket.

2 Y-GTP33-02 85218 |Bolt. 45 Y-GTP33-45 85260 | Piston Ring.

3 Y-GTP33-03 85219 | Starter Assembly. 46 Y-GTP33-46 85261 | Piston.

4 Y-GTP33-04 85220 | Nut. 47 Y-GTP33-47 85262 | Needle Bearing.

5 Y-GTP33-05 85221 |Washer. 48 Y-GTP33-48 85263 | Oil Tank Assembly.

6 Y-GTP33-06 85222 |Real Starter. 1-2 Y-GTP34-1-2 01830 | Bolt M6-30.

7 Y-GTP33-07 85223 | Oil Seal. 2-1 Y-GTP34-2-1 01831 | Clutch assembly.

8 Y-GTP33-08 85224 |Crank Case (Small). 2-2 Y-GTP34-2-2 01832 |Inner ring snap ¢35

9 Y-GTP33-09 85225 | Gasket Crank Case. 2-3 Y-GTP34-2-3 01833 | Transit base complex
10 Y-GTP33-10 85226 |Bearing Needle. 2-4 Y-GTP34-2-4 01834 | Rubber grip

11 Y-GTP33-11 85227 | Crankshaft. 2-5 Y-GTP34-2-5 01835 | Plywood

12 Y-GTP33-12 85228 | Pin. 2-6 Y-GTP34-2-6 01836 | Ring snap ¢45

13 Y-GTP33-13 85229 |Crank Case (Big). 2-7 Y-GTP34-2-7 01837 | Bolt M6x25

14 Y-GTP33-14 85230 |Bolt. 2-8 Y-GTP34-2-8 01839 | Bolt M6x18

15 Y-GTP33-15 85231 | Key-flywheel. 2-9 Y-GTP34-2-9 01840 | Spring ¢15

16 Y-GTP33-16 85232 |Flywheel. 2-10 Y-GTP34-2-10 01841 | Bearing needle 6206
17 Y-GTP33-17 85233 |Cover. 3-1 Y-GTP34-3-1 01842 |Bearing needle

18 Y-GTP33-18 85234 | Air Filter. 3-2 Y-GTP34-3-2 01843 | Transmission shaft
19 Y-GTP33-19 85235 |Bolt. 3-3 Y-GTP34-3-3 01844 | Aluminium tube

21 Y-GTP33-21 85236 |Flat Washer. 3-4 Y-GTP34-3-4 01845 | Transmission shaft
22 Y-GTP33-22 85238 |Bolt. 3-5 Y-GTP34-3-5 01847 | Aluminium tube

23 Y-GTP33-23 85239 |Washer. 3-6 Y-GTP34-3-6 01848 | Quick change

24 Y-GTP33-24 85240 | Spring Drum Clutch. 4-1 Y-GTP34-4-1 01849 |Belt

25 Y-GTP33-25 85241 |Bolt. 4-2 Y-GTP34-4-2 01850 |Circlip

26 Y-GTP33-26 85242 |Washer. 4-3 Y-GTP34-4-3 01851 | Bolt M5x20

27 Y-GTP33-27 85243 | Clutch Spring. 4-4 Y-GTP34-4-4 01852 |Ring

28 Y-GTP33-28 85244 | Stop. 4-5 Y-GTP34-4-5 01853 | Screw M5

29 Y-GTP33-29 85245 | Carburetor. 5-1 Y-GTP34-5-1 01855 | Protect cover support
30 Y-GTP33-30 85246 |Bolt. 5-2 Y-GTP34-5-2 01856 | Bolt M5x25

31 Y-GTP33-31 85247 | Electric Ignition. 5-3 Y-GTP34-5-3 01857 | Protect cover

32 Y-GTP33-32 85248 | Carburetor Washer. 5-4 Y-GTP34-5-4 01856 | Bolt M5x25

33 Y-GTP33-33 85249 |Intake Hose. 5-5 Y-GTP34-5-5 01858 | Protect cover connect plate
34 Y-GTP33-34 85250 |Intake Hose Washer. 5-6 Y-GTP34-5-6 01859 | Self control screw M5
35 Y-GTP33-35 85251 | Spark Plug. 5-7 Y-GTP34-5-7 01860 |Screw M5

36 Y-GTP33-36 85252 | Cylinder Cover. 6-1 Y-GTP34-6-1 01861 | Ring snap ¢26

37 Y-GTP33-37 85253 |Bolt. 6-2 Y-GTP34-6-2 01863 | Ring snap ¢10

38 Y-GTP33-38 85254 | Cover Muffler. 6-3 Y-GTP34-6-3 01864 | Bearing needle 6000
39 Y-GTP33-39 85255 |Bolt. 6-4 Y-GTP34-6-4 01865 | Initiative gear

41 Y-GTP33-41 85256 | Muffler. 6-5 Y-GTP34-6-5 01866 | Gear case

42 Y-GTP33-42 85257 | Muffler Gasket. 6-6 Y-GTP34-6-6 01867 | Passivity gear

43 Y-GTP33-43 85258 | Cylinder. 6-7 Y-GTP34-6-7 01868 | Transmission shaft

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO531YF. UK.

KCDH1117



32.5¢cc ‘
PETROL BRUSH
CUTTER

80880 - GTP34 SPARE PARTS LISTING

KEY PeRT STOCK DESCRIPTION KEY ol STOCK DESCRIPTION
6-8 Y-GTP34-6-8 01869 | Bearing needle 6002 619|  Y-GTP34-6-19 01881 | Bolt M6x18

6-9 Y-GTP34-6-9 01871 | Ring snap ¢32 620 |  Y-GTP34-6-20 01882 | Bolt M5x25

6-10|  Y-GTP34-6-10 01872 | Oil seal 28x12x7 71 Y-GTP34-7-1 01883 | Handle assembly
6-11 Y-GTP34-6-11 01873 | Protect cover 7-2 Y-GTP34-7-2 01884 | Plate

6-12|  Y-GTP34-6-12 01874 | Washer 73 Y-GTP34-7-3 01885 | Handle support
613 Y-GTP32-75 16384 | Blade 7-4 Y-GTP34-7-4 01886 | Plate

614 |  Y-GTP34-6-14 01876 | Blade plate 75 Y-GTP34-6-20 01882 | Bolt M5x25

6-15|  Y.GTP34-6-15 01877 | Screw 7-6 Y-GTP34-7-6 01887 | Left handle

6-16 Y-GTP34-6-16 01878 | Protect cover 7-7 Y-GTP34-7-7 01889 | Left handle cover
6-17|  Y-GTP34-6-17 01879 | Bolt M5x10 7-8 Y-GTP34-6-20 01882 | Bolt M5x25

618|  Y-GTP34-6-18 01880 | Bolt M6x12 7-9 Y-GTP34-7-9 01890 | Right handle

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO531YF. UK. KCDH1117



32.5cc

PETROL BRUSH
CUTTER

80880 - GTP34 SPARE PARTS DRAWING

Helpline: +44 (0) 23 8049 4344 Sales Desk: +44 (0) 23 8049 4333 General Enquiries: +44 (0) 23 8026 6355 internet: drapertools.com email: sales @drapertools.com

Draper Tools Limited, Hursley Road, Chandler’s Ford, Eastleigh, Hampshire. SO531YF. UK. KCDH1117





